Best model for HELP J104834.989+574632.497 atz = 1.67 )(2=2.1
OPTx?=3.18 IRx?=0.29 threshold (OPT IR)=21.36 [um]

2
10 Stellar attenuated
e Stellar unattenuated
1 . —— Dust emission
10 E . —— AGN emission
] . = Model spectrum
1 : ® Model fluxes
100-§ : M oObserved fluxes
>
E\ 10—1 4
— E vr""""‘—ﬂwﬂk'\
x Jopromre A7 )
> -2 - .
210 !
10—3 .
10—4 4
X
>
—
= ==f=(Obs-Mod)/Obs
>
©
)
0 O+F=Xx——tmpcdtrer———— e e e ————
o ]
) ]
2 ]
5 ]
© -1 . CIGALE
()
(o'

10° 10t 102 103 104 10° A
Observed wavelength [um]



